Best model for HELP J142610.189+331353.019 at z = 0.374 x2=14.89
OPTx?=18.43 IRy?=3.31 threshold (OPT IR)=11.0 [um]

102 E Stellar attenuated
] - Stellar unattenuated
—— Dust emission
1 . th —— AGN emission
10! 4 m —— Model spectrum
E : ® Model fluxes
] : M oObserved fluxes
i 100 E : \
S E :
X
> omT
(TR -1
10 oL et
.f’(’ a
cmf® |
1072 4 -
P ]
=} ]
Al |
= ] ==f=(Obs-Mod)/Obs
3 ]
S
n
o O+=——=H-RfF-—--Vf|l—>g>—-—-—--- |- — =
—_
()]
2
-+
© aaa —r CiGAL
]
[a'd

10! 107 103 10 A
Observed wavelength [um]



